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PREVIEW QUESTION BANK(Dual)

Module Name : Commerce
Exam Date : 13-Jun-2023  Batch : 09:00-12:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks
Objective Question

101 908101 2.0 0.00

In case of presence of outliers in a data set, which of the following can better
measure the central tendency ?

A. Mode

B. Trimmed Mean
C. Arithmetic Mean
D. Median

E. Harmonic Mean

Choose the correct answer from the options given below:

. A and B only
B and C only
. C and E only
.B and D only
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Objective Question
102 908102 2.0 0.00
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To remove 'order biag' in a questionnaire, usually researcher use which of the
following :

A. Pivot questions

B. Multiple grid questions
C. Funnel technique

D. Filter questions

E. Leading questions

Choose the most appropriate answer from the options given below:

1. B. E and A only
2.D. E and B only
3.E.Band C only
4. C. D and A only
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Objective Question

103 908103 2.0 0.00

Which of the following are skills and capabilities related competencies?
A. Analysis
B. Intellectual curiosity
C. Organization
D. Problem solving
E. Ownership of assignments

Choose the most appropriate answer from the options given below:

1. A. Cand D only
2. A. B and C only
3.B. C and D only
4. A, D and E only
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Objective Question

104 1908104 Which of the following are the disadvantages of straight salary sales compensation 20 0.00

plan?

. Sales volume is emphasized over profits

. Sales representative may overstock the customer

. Low motivational impact

. Difficult to attract or retain top sales performers

. Sales representatives may focus on produets that require least effort to sell

Mg wp

Choose the most appropriate answer from the options given below:

.C.D and E only
. A, B and C only
.B. D and E only
A, C and D only

R O
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Objective Question
105 908105

Which of the interventions can be used to manage the anxiety ereated by mergers 2.0 0.00

and acquisitions

A. Speed-up of the integration process

B. Articulate a new vision, common goals and organizational symbols
C. Employee counselling and stress management training

D. Disengage efforts such as termination ceremonies

E. Social support from spouse. friends. supervisors and coworkers

Choose the most appropriate answer from the options given below:

1. A. B and C only
2.B. C and D only
3.A. Cand E only
4. A. B and E only
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Objective Question

106 908106 Which is the legal framework governing the Regional Rural Banks (RRBs) 20 0.00

A. Regional Rural Banks Act, 1976

B. Regional Rural Banks Act, 1966

C. Small Industries Development Bank of India. 1989
D. Banking Regulations Act. 1949

E. Indian Partnership Act. 1932

Choose the correct answer from the options given below:

1. Aand D only
2.B and D only
. A and C only
B and E only

o
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Objective Question

107 908107 Which are the RBI notified domestic accredited credit rating agencies? 20 0.00

A. Brickwork ratings
B. Acvite ratings

C. CRISIL ratings

D. Standard and Poor's
E. Moody's

Choose the correct answer from the options given below:

1. B and C only
2. C and D only
3. Aand C only
4. C and E only
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Objective Question

108 1908108 In the context of banking sector, spread is defined as a function of the following : 2.0 0.00

A. Forex

B. Net Interest income
C. Rate Sensitive Assets
D. Asset Ratio

E. Leverage Ratio

Choose the correct answer from the options given below:

1. C and E only
2. Aand C only
3.Band D only
4. B and E only

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html 7157



6/13/23, 6:45 PM 11_Live_Comm_B1_E_101-150.html

s e & g=y 1 Ore @1 Fgfafad § (59 srieae & = o ukyiftg
fepar T 22

A. RTH

B. (Fad =191 3@

C. & Had] uREuf
D. UREUfR 3T
E. S0 SUrd

-2 fau Mg el & I el STR &1 99 B -

'Al
52
63
{%4

Objective Question

109908109 Which of the following are the reasons for manufacturers and retailers to brand 2.0 0.00

their offerings?

A. Helps to gauge the level of product quality
B. Enables premium pricing

C. Contributes to corporate identity programmes
D. Informs about the source of a product

E. Develops customer loyalty.

Choose the most appropriate answer from the options given below:

1.A.B. C and E only
2.B. C and E only

3.A. B.Cand D only
4. A. D and E only

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html 8/57



6/13/23, 6:45 PM 11_Live_Comm_B1_E_101-150.html

frfarsf Td gaw saarial & fofg oo U@ B 6§ S & PR
fFafdEadasHI

A. ST B T[0T & TR B A9 J Y80 gl &
B. viftras iad FuiRor 8 gud garar g

C. PIURE eI SPHl H 80D gidl &

D. fodft Sae & 9 & < & g e HRar g
E. UT6® @1 1 &l fadfad sl ¢

= feu e fased] © ¥ Had GUgad SR BT 99 DI :

1. $9d A, B.C.E
2.$dd B, C.E
3. $AdA.B.C.D
4. $9A A, D.E

Aly

1
A2,
2
Ads
3
Ay
4

Objective Question

110 508110 Which of the following are the tools for consumer promotions?

A. Price off
B. Refunds
C. Coupons

D. Event sponsorship
E. Off-invoice

Choose the correct answer from the options given below:

1. A. B and C only
2.B,C,DandE

3. A.Dand E only
4. B. C and D only

SUHIG-SER og wied Feffa d 9 sR I
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2. $ad B, C.D.E
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4. %GAB.C.D
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Objective Question
11 1908111 An agent is personally liable to third parties in which of the following situations? 20 0.00
A.If an agent acts for an undisclosed Prineipal
B. Trade usage and customs makes agent personally liable
C.If an agent signs a contract in Principal's name
D. If an agent acts for the named Principal
E. If an agent works for a foreign Prineipal.
Choose the correct answer from the options given below:
1. A. B and C only
2. A Band E only
3.C.Dand E only
4.B. C and D only
At o aRfRufoal / g=msdl 8 ®iz Toie (Sifigl) dieR g&f & i
T 9 | SRR GBIl 62
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Objective Question
112 908112 2.0 0.00
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If the application for information is rejected under the Right to Information Act
2005, the CPIO/SPIO is obligated which of the following to furnish the person
secking the information?

A. Power and functions of information commission

B. Reasons for such rejection

C. Obligation of public authorities

D. The particulars of the appellant authority

E. The period within which an appeal against such rejection may be preferred

Choose the correct answer from the options given below:

1. A. B and C only
2.B. C and D only
3.A. Cand E only
4. B. D and E only
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Objective Question
113 908113 2.0 0.00
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Objective Question

908114
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The Competition (Amendment) Act, 2023 revamped the competition Act in which
of the following perspectives :

A. The CCI needs to be intimated if the value of merger and acquisition deal
exceeds Rs. 2000 crores

B. The overall timeline for assessment of combination has been reduced to 150
days from 210 days

C. "Exclusive selling agreements" has been replaced with "exclusive dealing
agreement”

D. Entities who are not engaged in identical or similar trade shall also be part of
an Anti-competitive Agreement under Section 3(3) of the Act

E. Anti-competitive conduct like "tie-up arrangements" "re-zale price
maintenance” and "exclusive distribution agreement" have been redefined.

Choose the correct answer from the options given below:

. A.Band C only

. Cand E only
.A.B.CandD only
A.B.C.DandE
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Objective Question

908115
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Which are the appropriate tax planning perspectives in case of shut down or
continue decision under Income Tax Act. 19617

A. Business loss and unabsorbed depreciation can be carry forward and set off
against profit and gain.

B. The loss making company and profit making company may merge to avail
the tax benefit

C. Tax benefit of deduction w's 33 AB and 115 VT may be withdrawn and liable
to tax for the year in which business is discontinued.

D. The condition of section 80 IB / 80 IC of the Act, a deduction is allowed to
such undertaking

E. If a person has more than one business, the logs making business may not be
discontinued.

Choose the most appropriate answer from the options given below:

A, Cand D only
.B. D and E only
.C.D and E only
.A. Cand E only
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Which of the following are correct for Agricultural Income ?

A. Income from self grown grass, trees. bamboo

B. Rent and Rates derived from land

C. Income from making the produce fit for marketing

D. Income from land used for storing agriculture produce
E. Income from farmhouse

Choose the correct answer from the options given below:

1.B. C and E only
2.B. D and E only
3. A Cand D only
4. C.D and E only

P o R F-a w2

A. T8GRI I Y 919 38 SR 919 9 317
B. YT 9 o fobRman 9 3
C. §IOR & 3JPd IdIE §1H o 31T

D. P IAIE & HSRUI & WG HYH & 31
E. BTH 8139 9 31

414 feu e fasredl & ¥ Had SUgdd SR &1 999 DI :

1.$dd B.C.E
2. $4d B.D.E
3.%P4A A, C.D
4. 9dd C,D.E

Al

A2

A3

A4

Objective Question

116 908116 Match List I with List IT 2.0 0.00

LISTI LISTII

(A.T. Kearney Globalization Index) (Variables)

A [Economic Integration 1. |International Tourism and Travel
B. |Personal Integration II. |Internet users

C. |Technological Integration II1. [Foreign Direct Investment

D. [Political Integration IV. [Ratification and multilateral treaties|

Choose the correct answer from the options given below:

1. A-IV, B-IIL. C-II. D-1
2. A-IIL B-I. C-IL. D-IV
AL B-I1. C-L D-IV
LA-IV. B-L. C-I1. D-III

=
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Gt 11 g 11 © e shiforg

Al
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Objective Question
117 908117

2. A-IIL B-I. C-IL. D-IV

3

. A-IILL B-I1. C-1. D-IV

4. A-IV. B-I. C-11. D-IIT

Match List I with List IT

31 1T 21 UT a8l GIBiP Celhibn
A |enfe umimen 1. |seidg chea ud daa
B. [[Feil (afgaTTd) Ui 1. |Zeee ugiad
C. [IRIF® thimeo 11 [faa= e o
D. Rroifa® waiasul IV. [SgUald ¥t &1 SaHed
fAafiRad fasedl I I Ul IR &1 9 Bifort -
1. A-IV, B-IL. C-I1, D-1

(Accounting Concepts)

LISTI

LISTII

(Purpose/Applicability)

Going Concern

The same accounting method used by a firm from one

A L L 7
Concept period to another
B. |Consistency II. |Relate to the relative size or importance of an item or event
i |An inappropriate assumption for firm undergoing
C. |Cost concept I1I. pprop I i
lbankruptcy
D. Materality IV. [The normal basis used to account for assets

B

. A-IL B-IIL. C-IV. D-I
. A-L B-IL. C-IIL. D-IV
. A-L B-II, C-IV. D-III
AL B-L. C-IV. D-II

Choose the correct answer from the options given below:
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et 11 gl 11 9 fir sifore
T I SEERUT W 11 ST/ T4
[ e SR [ | T St O g oY & U BH R S
G4t U ¢ a1 91 & AIuiaa HIHR 1 95d o
B. {O&=0ar IL ey ﬁ HI
iy ET—— - ﬁwnum SHI3 & Iealloll gi- &1 U HI0ga
D_ [Hifa@ar Iv. [aREnfaar & o oa od Dgad 9T SUR
fAafiaRad faswedl O T 9l IR &1 994 ifog -
1. A-IL B-III, C-IV. D-I

. A-L B-II. C-IIL. D-IV

3. A-L. B-II. C-IV. D-IIT
4. A-IIL B-1. C-IV. D-IT
ALy
1
A2,
2
Ay
3
Ay
4
Objective Question
118 908118 Match List I with List IT 20 0.00
LISTI LISTII
(Herfindahe Index Value (Market Type)
A Jero I. |Oligopoly with high risk of cartels)
B. |0-1.000 II. |Oligopoly
C. |1.000 - 1.800 I1I. Monopolistic competition
D. |1,800 - 10,000 IV. [Extremely competitive market

Choose the correct answer from the options given below:

. A-L B-II, C-IIL. D-IV
CA-IV. BHIL C-ILL D-I
. A-IL B-L. C-IIL. D-IV
. A-L B-III. C-IL. D-IV

| S

o
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Gt 11 g 11 © e shiforg

Gl 1 e breTd Gadi® A T 11 IR B TR

A [ 1. [3aIG €9 & 3= wiad dfed Aeaidsn]
B. |o -1.000 IL [3eanie@R

C_ 1000 - 1.800 11 [oaiaert uiaeqst

D. [1.800 - 10.000 V. |oreafies ufoeael aeiR

Fefeiad fadmedl O U el o) &1 98- DI ;

1. A-I. B-II. C-III. D-IV
2. A-IV. B-IIIL. C-I1. D-I
3. A-IL B-L. C-IL. D-IV
4. A-I. B-IIL. C-II. D-IV

Al

—_

A2

A3

A4

Objective Question

119 /908119 Match List T with List IT
LISTI LISTII
(Technique) (Feature)
. [Pooling I. |Setting up production facilities in a number of countries

Financial hedge] 11 [Reduction of Foreign exchange risk through leading and lagging]
[Natural hedge | IIL [Simultaneous borrowing and lending in two different currencies
. [Netting IV. [Holding and managing of cash by the affiliates

o] fol =] F=2

Choose the correct answer from the options given below:

1. A-L. B-IV. C-II. D-III
2. A-IV. B-III. C-I. D-II
.A-IV. B-IL C-IIIL D-1
. A-L B-II. C-IIL. D-IV

=
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Objective Question
120 908120

Match List I with List IT

et 11 G 11 9 Tear iforg
A1 T 10
A_[gfeT (gem) L mﬁa&g&ﬂﬁmﬁﬁm T BT
U1 ¢ U4 UGy (i) o Arend © oo fafma sifea |

B. [f&ia wiomamr | IL o BT

€; m”i &TEITE 1L | 57 37erT-ia <= &t go1 8§ T o SUrl ud w0

D. ffd V. | grifeIal g1 Tdal @1 Ulda ud ey

FafaRad fdeedl § 9 el SR &1 99 ST :

1. A-I, B-IV, C-IL, D-III

. A-IV. B-1III. C-L. D-II
- A-IV. B-IIL C-IV. D-1
. A-L B-II. C-IIL. D-IV

LISTI LISTII

(Non-parametric test (Counterpart of parameter test)] (Parametric test)

A [Friedman Test

I |One-wayv ANOVA]

Mann-Whitney U Test

I |t-test

I1I. |Paired t-test

B.
C. [Kriskal Wallis Test
D. [Wilcoxon signed Rank Test IV. [two-way ANOVA

| SR

=

Choose the correct answer from the options given below:

. A-L B-IIL. C-IV, D-II
. A-IV. B-ILL C-1. D-III
AL B-1 C-IL D-IV
. A-IL B-IV. C-IIL. D-I
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et 1 1 g1 11 9 eI iforg
Rl 1 TR-UTITere UR1GIUT (UT=ITered UR1GT0T T UTereiT=i) [N 11 UTelfereh UR1&T0]
A [BISET gliam I [uo feelig oA
B. [H-f@e U THiam il P
C. - dferg TRIaT 111 [958 + Ti&on
D. T 1SS 0 U310 IV, [fg- &= T
frafafad fasweal & ¥ et Sor @1 =g ifeg -
1. A-I. B-III. C-IV, D-II
2. A-IV. B-IL. C-1. D-IIT
3. A-IIL. B-1. C-I1. D-IV
4. A-IIL. B-IV. C-III, D-I
ALy
1
A2,
2
Ay
3
Ay
4
Objective Question
121 908121 Match List I with List IT
LISTI LISTII
(Motive of human behaviour in organizations), (Characteristic)
A JAchievement I. |Concern for others
B. |Control II. |Concem for self-development]
C. [Extension II1. [Concern for excellence
D. [Dependency IV. |Concern for orderliness
Choose the correct answer from the options given below:
1. A-TIL B-IV. C-II. D-1
2. A-IV. B-III. C-II, D-I
3. A-IL B-TV. C-1. D-IIT
4. A-II1. B-IV. C-I, D-II
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et 1 1 g1 11 9 FearT Siforg
a1 1 §7T3 | AT SI9eRR 1 364 A1 11 =
A [3udis L |G & AT WRHR
N EREL L. [5G [ & [T |IDR
C. [uR 1L [Pl & a0 IWPR
D.[F:R V. [goraen & o ReR
frafafEd fae el § 9 96l Sk &1 =0 S -
1. A-TIL B-IV. C-II. D-1
2. A-IV. B-III. C-II. D-I
3. A-IL B-IV. C-1. D-III
4. A-IIT. B-IV. C-1. D-IT
Ay
1
A2y
2
A
3
Ay
4
Objective Question
122 |908122 Match List T with List IT 2.0 0.00
LISTI LISTII
(Consequent outcome) (Taxation Perspective)
A |The person 1s liable to penalty and prosecution I. |Tax Management
B. |Tax is reduced by taking advantage of loopholes of the law] I1. [Tax Avoidance
C. Main aim is compliance with legal formalities III. |Tax Evasion
D. [t 1s a guide in decision making IV. |Tax planning

Choose the correct answer from the options given below:

. A-IL B-IIL. C-IV. D-I
A-IL B-IV. C-II1. D-I
. A-IIL B-I1. C-L D-IV
LA-LL B-1 C-IV. D-II

R O

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html 20/57



6/13/23, 6:45 PM 11_Live_Comm_B1_E_101-150.html

1. A-IL. B-III. C-IV. D-1
2. A-IL B-IV. C-II1. D-I
3. A-IIL B-IL. C-L. D-IV
4. A-IIL B-I. C-IV. D-IT

Al

A2

A3

A4

Objective Question

et 1 1 g1 11 9 FearT Siforg

Gl & I

st ufum HUTH TR

A [oiad 31e 208 S HfUgieH & HefH gidl 8| L |ee e
B_ [@1d &I ®dHwIA! B a4 38161 $X HH [hdl ol & || 11 [@ TRER
C. [0 IR0 @Il HIUaIRadr! &I SFue &3l ¢l | 1L [$R 3udad
D. [78 Avig & 4 U@ a7 a2 o V. [@ aiar
fafaRad fawedl @ U 98l STk &1 98- DI :

123 908123 Match List I with List I
LIST I (Purpose) LIST II (Committee)
A Study all aspects of Electronic Fund Transfer 1 [Rashid Jilani Commuittee
T JEETD) ~ [(1992)
B. |Working group on NBFCs II. |Soduani Committee (1994)
C. |Suggest alternate methods of Lending IT1. [Malegam Committee (1993)
D. |[Expert group on Foreign exchange markets IV. [Shere Committee (1995)

. A-IL B-I. C-IL. D-IV
. A-IL B-I. C-IIL. D-IV
. A-L B-IIL C-IL. D-IV
. A-IV. B-1IL. C-1. D-II

o =

=

Choose the correct answer from the options given below:
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. A-IL B-L. C-IIL. D-IV
A-L B-III. C-IL. D-IV
. A-IV. B-II1. C-I. D-II

L

Al

A2

A3

A4

Objective Question

124 008124 Match List T with List IT
LISTI LISTII
(Retail Store Format)] (Product assortment)
A [Discount I |Very narrow and deep
B. |Specialty I1. |Broad and shallow
C. |Category Killer | III |Broad and deep
D. |Supermarket IV. [Narrow and very deep|

Choose the correct answer from the options given below:

. A-IL B-I. C-IIL. D-IV
. A-L B-II, C-IIL. D-IV
CA-IV, B-IL C-IILL. D-I
. A-IL B-1. C-IV. D-III

o =

=

et 11 G 11 9§ Foear sifere
1 & I
T Tfffa
5 [T FIY SR G Uh <) & Tl veqe a1 | | [ o @t
 lsrEma ®e ~ e
B [ o d ® e 9 g 1. (gt afEtg (1999
C. U1/ SUR @1 ddicadia el U= gaid ol IIL [A7ef11g TR (1995)
D. [[4&=M f[9HHY SR R 92937 998 IV, [3 G (1995)
Hafafad faeel T 9 981 STR &1 904 ST -
1. AL, B-1. C-II. D-IV
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I
mfmﬁaﬂw

.
A fesw=rde

L. [S8d Y1 Ud T30

B

[EREed | o [Eis e gy

C o fem |m HTe1 Td e

Objective Question
125 908125

Match List I with List I

D. [gR#AIbe |1V, [FdR1Ud dgd T8
frafafad fomeal & 3 981 9ok &l 99 DI
1. A-II. B-I. C-III. D-IV
2. A-I. B-II. C-II1. D-IV
3. A-IV. B-II. C-III, D-I
4. A-II, B-I. C-IV, D-III
Al
1
A2,
2
A3
3
Ay
4

LISTI LIST II
(Schedules:lagezrntlhsl; companies I e o T R
A |Schedule I I |Computation of Depreciation
B. |Schedule IT II. |Code for Independent directors
C. |Schedule III I, Memorandum of Association
D. |schedute TV IV Preparation of Balance sheet and statement of

" |profit and loss

B

.A-IL B-1. C-IV. D-III
A-IIL B-I. C-IV. D-IT
. A-IIL B-IV. C-I, D-II
.A-L B-IIL. C-II. D-IV

Choose the correct answer from the options given below:
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et 11 gl 11 9 fir sifore
T
HuT siftfram 2013 F sl : I
e sm%ﬁw

A ferEdi L (g8 &1 uRaad

B. [9gdin 11 &5 Heurel gg HadmErd

C. gt 11 [0 Ui . _
> T
fAafiaRad faswedl O T 9l IR &1 994 ifog -

1. A-II, B-1, C-IV, D-III

2. A-IIL B-I. C-IV. D-IT

3. AL B-IV. C-I. D-IT

4. A-L. B-III. C-II. D-IV/

Al

A2

A3

A4

Objective Question

126 908126 The steps to be followed by a firm while strategizing to go international are as 20 0.00

follows:

A. Deciding when to enter

B. Deciding which markets to enter

C. Deciding whether to go global

D. Choosing a mode of entry

E. Deciding how to enter the chosen market.

Choose the correct answer from the options given below:

-
w Wy O

ap o
O

bt
> 00
o QoW
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T BT § | 3P GRT S-SRI (BT S aTdl TROT G -

A. T HD] LB (VO T 8. SHD1 F0id S

B. &1 STOIRI & W99 ST 8, SHP (Huig S

C. af¥y® Ta¥ IR =AfTd g1 a1 98l g1, 591 fHufg @
D. YgX & Rid (FIYU) BT I1d DT

E. T §% GI9R & &Y U3 UMl 5. 59®T (070 S

Lol o

w W P o

il ol

> 0O
0p Mo
i O
[l wvelbe=

'Al
52
63
{%4

Objective Question

127 908127 2.0 0.00

Asrange the steps of process costing from beginning and ending with the work in
process inventory

A. Summarize total costs to account for work-in-process inventory

B. Compute output in terms of equivalent unit

C. Compute cost per equivalent unit

D. Summarize the flow of physical units (of output)

E. Assign total cost to units completed and to units in ending work in process.

Choose the correct answer from the options given below:

IJL—‘
tx:lnt:d
?'>U?'>
O»n
trf bt

3.
4. DABC

HichaT ITd & HIUFI Bl SR F qYT Uihad= g1 U= JHI & S hH d
AT BT :

A. TF AFA &1 4R § WihaT ATe=] &1 aui= Ugd o]
B. Y0qw 515 & 954 1 I1E &I TIUH] B3]
C. Uid IUde SPTs ANTd B1 0T B
D. HIfd® go15dl (31E) & HdTs BT R UK DA
E.%@meﬁﬂmﬁm%mﬁﬁq@w
FHAT
i feu U fadedl T § I51 3R &1 98 DI ;

.D.
. B.
C.
H;

e
MO WY
OWow
P Op
BOpn
[N Mes Mes)

o VS
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Objective Question

128 908128 2.0 0.00

Arrange the following goods and services in the increasing order of the underlying
income elasticity of demand.

A. Normal consumption goods
B. Necessities

C. Luxuries

D. Inferior goods

E. Services

Choose the correct answer from the options given below:

b
wOooo

>0 w
oW wp

0P P
Omno

a0

E
frafafad aegsil ud Jarsdi & J71 ol Sweie-17 31 dld & 9ed $»H H
HafRYd PIfT:

A. TG S9HIT Yand
B. 3HTARYS TXKU

C. faara-axy

D. Frasrig gt

B,

i feu U fadedl T § Il 3R &1 98- DI :

Iu’l!—t
wAyU

>0
oW W

B~ it
o P
HO|n

Al

—_

A2

A3

A4

Objective Question
129 908129 2.0 0.00
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Sequence the following steps in the operational functioning of the Asset
reconstruction companies (as per SARFAEST Act 2002)

A. Charge a 2 percent management fee
B. Issue security receipts to bank

C. Make payment to bank

D. Buys loans of bank at a discount

E. Carry out the recovery

Choose the correct answer from the options given below:

o -

SESR-~

> mw o
WO

B
o o 3
neEnw

afEgfy grRa Sutal (Re R ST, 2012 & SUR) & SRiGar)
& 79 ISl B HHTTHR Faieyd fopfor -

. 2 TfI=Id Wa=A Yo TR (@) St §
S o1 Rl TGt R Rl 21

.S B YT Bl g

S B B W BUNE A S |

wifaeny @) frarf-ad st 81

i feu 7T fawedl § 9 96l TR @1 99 Bifoly -

mgnwe

IJ!—‘
SESEeR>

> ww N
WO

g peh
nProw

Al

—_

A2

A3

A4

Objective Question

130 908130 2.0 0.00

The problem-definition process involves following steps. Arrange them in a logical
sequence.

A. Determine the unit of analysis

B. Determine the relevant variables

C. Write managerial decision statement and research objectives
D. Write research question and/or research hypothesis

E. Identify key problems

Choose the correct answer from the options given below:

MW O
OMYw

> b
Wowo

ol o
oggmn
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- GRHTST Hiear § i oxor 9Ed f6u 9 §1 5% aies
P T 1 FaIRYd Hiteg|

A. fozeiv &t sars feffvd o

B. Uifi® =i & e s

C. yau@ g fAufg fgaror (@ue) Ud y-3e 3y &f g
D. ST U8l 3R/ Q1Y Wi ed B forg=1

E. &0 OE13] &1 ygd Hel|

1= feu e fased! H U Hel SR 31 997 B :

Iq!—t
WO >
0m Y

> P g
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{kl
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A4

Objective Question

131 1908131 As suggested by Collins, arrange the following leadership levels in the sequentially 20 0.00

higher order.

A. The leader is a competent manager

B. The leader is an executive

C. The leader is a highly capable individual
D. The leader is an effective leader

E. The leader is a contributing team member.

Choose the correct answer from the options given below:

o =

nNOw

e e
P P O

o
wo oy
U W
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DI GRI YA T HFfaRad A wRI &1 S & 3= vH § Fardd
oy -

A. Al e YaR® gl §

B. Aqcaddi SAGR BRI 8id 3

C. gl srafys gad afd giar e

D. g@dd! U UHId! Il SidT g

E. gl <19 e (THRT & 9 § &1 $3- arar gidl §

1= feU Y fashedl © ¥ Il SR 199 By :

1.B.C.D.A.E

B
BN
-
>
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Objective Question

132 |908132 Starting from the earliest, sequence the steps taken to develop the money market in

India

A. Introduction of Interest Rate Swaps (IRSs)

B. Introduction of Commercial Paper

C. Introduction of Ways and Means Advances (WMA) linked to bank rate
D. Introduction of Liquidity Adjustment Facility (LAF)

E. Implementation of Real Time Gross Settlement (RTGS)

Choose the correct answer from the options given below:

o
Onwo

b m e
Mg

ww g0
ngnw

o
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YR P I SOR &1 [G Rid &3 $ [T 381 T 9 & Fouyd
eI P hH H ogaiyd PIoig :

A. SIS &R W (315 SR TH) DT RY

B. AIiUIfod® U &1 3RY

C. 99 X 9§ Hag d US Wi UsaiY (S&] TH U) Bl SR
D. faf®fact usoRete By (Ta T Uw) o1 SR

E. Ngd e1ed U 9ediT (3R 1 ol UH) &1 fharaad
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Objective Question

133 1908133 Arrange the following serviee gaps as per SERVQUAL approach in the logical 20 0.00

Se(ueice.

A. The gap between serviee quality specifications and service delivery

B. The gap between the customer's expectations end management perception
C. The gap between perceived service and expected service

D. The gap between management perception and service quality specification
E. The gap between service delivery and external communications.

Choose the correct answer from the options given below:

o =

NP wo
PoDp
ww
™
Omnn

o

TH 5 3R 9l 7 4 U TS (SERVQUAL) SUNH & SFER Hafaiad al- il
] THETTA SPH B oIaid BT ;

A. Yo Gaet-Tora fafdee ud S gueh & 99 sfava

B. U6 I 3U&T3 Ud YU Yas I (HdaIE) & T 3feRId
C. 3 a1 Ud UG a1 He RTel

D. Y&U® g U 14 Ud FaT Sath qoraar faFdee & a9 siqa
E. Ja1 Ui Ud aTel SN & He SfaRd

4 3w U faeed! & @ 98 SR @198 B |
1.DDABEC
2.B.DAE.C
3JAAC.B.D.E
4. C.A.B.E.D
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A4

Objective Question

134 [908134 Arrange the following steps in a logical sequence in recourse to dishonouring a

negotiable instrument:

A. Noting

B. Compensation

C. Protesting

D. Notice of dishonour
E. Penalties

Choose the correct answer from the options given below:

3.
4.A,C,

RIBH YA Bl ABRA 5 Al AUDBR T 31 aTc! (iR == (G
@] Al Y I HaEd DIl :

A, PR (Fifém

B. §3faull (HIdPR)

C. THR-FHIH

D. 3ATHR - Jagl ey
E. Y&t (3rfes)

- fau g fas el & I el SR &1 =997 Sy :

i
pAoReN )
nogop»
om0
o

[es =N es lesl

oWk
2NNy
noOop
SEEe
bW
Rl les|
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A2
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A4

Objective Question
135 908135
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Asrange the following advance payment of tax in ascending order (Section 207 to
section 211) of the Income Tax Act.1961.

A. Instalment of advance tax and due date

B. Liability for payment of Advance Tax

C. Payment of advance tax by the assessee on own record
D. Condition of liability to pay advance tax

E. Computation of advance tax

Choose the correct answer from the options given below:

LA BAE DR
Z.B.D.E.C.A
3. BB AE
4.C.D.E.A.B

HESHR AT & siaria FafafEa S & YT & RIS B (URT 207
T YR 211) H HHAG BITOTT ;

A 3 R @1 = SR &7 fafy

B. U0 R & 1A & <gdl

c. Fuffedt & W0 & awaa / Rars gR1 3ifm #2 YiaH
D. M B & YA §q 4l B A

E. 300 B P HI0AT

i< fqu T fa eyl § 9§ el 9% &1 997 S :
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owwp
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P 0o
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Objective Question

136 908136 2.0 0.00

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R -

Assertion A : By removing barriers between national markets, trading blocks create
competition due to bigger trading area.

Reason R : Increased competition can lead to the closure of local industry and
harm domestic consumption.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. A s correct but R is not correct

4. A is not correct but R is correct
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2 < Y AU T B, U DY (Assertion A) & ¥9 1 fafEa & o go I
TP BRI (Reason RFTUY

HTHGUTA: ATTT STOIRT & Hed B AIUI3HT PI R PP IR THE (TS)
31f¥e §3 IR & % SR Fhaegsl I (o) #xd &

BRUIR: §¢1 §5 UIcgel], RIF TN & FH70H (92 81 o) i 3R 3ufad
T § Ud BRe SUHNT Bl THHH g Tl 5
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2. ARREH T8I € AR R, A DI el URAT 781 &
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Objective Question

137 1908137 2.0 0.00

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : When a partner retires, all the assets and liabilities are revalued
according to current value.

Reason R : The balance sheet should show the correct values of assets and
liabilities.

In the light of the above statements, choose the most appropriate answer from the
options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A is correct but R 1s not correct

. A is not correct but R is correct

ko =

o
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2 < Y AU T B, U DY (Assertion A) & ¥9 1 fafEa & o go I
TP BRI (Reason RFTUY

SMHHYAA: 59 TP WIHIGR a1 (g 811 & <l THH Hed & SR F+t
aResufEl SR Saarsi & gHeifed fbar gl
HRUR: Jo9a § uRgufRl 3R Sadisi & 98! gl @l fdgm =gyl

TWRIGT DY & 3Tl 1, i 3T 10 fdedl T 9 98 S0gdd Sk &1 99+

1. A SRR T8I § SIRR. AT Jg AR §
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Objective Question

138 1908138 2.0 0.00

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Usually manufacturing companies use sale and lease back
arrangement to unlock investment in fixed assets.

Reason R : In a sale of lease back arrangement. the companies sell the asset to a
leasing company, and lease it back to enjoy the uninterrupted use of asset in their
business.

In the light of the above statements, choose the most appropriate answer from the
options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is not false

4. A is false but R is true
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Given below are two statements :

Statement I: The only purpose of logistics management is to coordinate activities
of moving products from the factory to customers.

Statement II: Logistics management is only the responsibility of marketing
function.

In the light of the above statements choose the most appropriate answer from the
options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I 1s incorrect but Statement II is correct.

B
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Given below are two statements:
Statement I: Certificate of incorporation is conclusive evidence that all the

requirements of the Companies Act have been complied with in respect of
registration.

Statement IT : After incorporation, if the company makes a fresh contract in terms
of the pre-incorporation contract, the liability of the promoters shall come to an
end.

In the light of the above statements, choose the correct answer from the options
given below:

. Both Statement I and Statement I are true
. Both Statement I and Statement are false

. Statement I is true but Statement IT is false
. Statement I is false but Statement II is true

[

oS VL]
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, howewver, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances. introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to mtegrate with the digital rupee
that iz undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the mfrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profilmg. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The nfrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machmery being built. The interoperability with UPI guidelines plugs them
deeper.

As per the passage. why do the payment banks need to carve out a distinct
business segment for themselves?

. To be a part of the UPI ecosystem

. Because payment banks are in competition with full service banks

. Because payment banks are mandated to push innovation in finance
. In order to entitle themselves for lending

O

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html 38/57



6/13/23, 6:45 PM 11_Live_Comm_B1_E_101-150.html

@ o YIaH A & R gieTss 99T evtha (g W am) B Iy o e 9 A
gui feforen a1die #1 iR U aeTe a1 819 O +1s © A1e0s § afid e Wa
TH-37 A 3% TESi AR st F R o @ wieda § TR 5 990 11 78
TEa: 7 0 378 ST SIaETHal TRIY TAF TR R O U6 §% § g 86 | 7Y A I
a AR §F 8 SR & 09 89 ¢4 © ggral ¢l I 01 a5 & A1y § well g ge ad
& T ER T @H # TS AeH! & HagR W 9% §% Wt | ¥ 5 9 Fraita g
Bl o o F R yomEal $5- S o il R $Y 96 § Wy 9% B0 & &
TATET 8- 3% g U oS Soifaved & w8 a9 & HIagEdl 8] 96 UF 14F adias
THTE S B AAWHA & fose Aid 3¢ qUf 9o 3 &1 @y fAear gn

T vgr § g U1 o ®1 R e iR g9 o 2 & i uR § 0E o9 % aR W
fafsfiw g7, TEs! ® =4 Hise SIS & wad 4 faes wes! & gar v gro afl
& o wEt SR wrh fm #1 SwE o A F g § 9 erT g bt o = feferem
T F Y TSP B S o1 THai et ud Ui o-27 & gy ¥ 90 wi gl
ffoea Uve ewH wel fed WHew & gfwdl e & e & Agaaf Hffe st &
&

ToF Tefien o9-27 99 Al =it Hige Wesfem ¥ fag snfafaa g @ o siteedq
T e i i 31 e sffie smemarel sferel 31 9R X T Sfea
feraioa: ol ge X F 41 s Famadl & R0 gan 21 ST w0 § SR S & o g bt
HTE TATYH 24 31 &1 ST 59 &9 7 51 B &5 g8 srawn 21 40 o fea s F
TN HA1 ST dlfe I5 aTfieg &1 e A1egH o9 96| gme! e § frerg =i
TieETed =41 B foret fad = &3 § aeR g4 51 98 9= &1 Bk a9-29 % T
Tee U5 994 21 7% o 1 3 37 =1 mea fewm 31 g O o famn fEm F o
TETETE 59 T a¥E TRiEd S

TR TR F HFER YISl S5 & o0 o @y smeaiis s 99 $1
&

Al
A2
:A3
A4

Objective Question
142 908142 2.0 0.00

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html 39/57



6/13/23, 6:45 PM 11_Live_Comm_B1_E_101-150.html

Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, howewver, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances. introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to mtegrate with the digital rupee
that iz undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the mfrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profilmg. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The nfrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machmery being built. The interoperability with UPI guidelines plugs them
deeper.

Given below are two statements:

Statement I : Initial UIP adoption has surpassed the most optimistic expectations
on account of the waiver of the merchant discount rate.

Statement II: The future growth of the UPI will be facilitated by providing
solution for the conduct of business and to becoming a medium of commerce.

In the light of the above statements. choose the most appropriate answer from
the options given below:

. Both Statement Iand Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement I is correct.

R A
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for instance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, howewver, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinct
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances. introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to mtegrate with the digital rupee
that iz undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the mfrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profilmg. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The nfrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machmery being built. The interoperability with UPI guidelines plugs them
deeper.

Contactless payments infrastructure. as per the passage, will empower fintechs
for:

. Interoperability with the UPI

. Innovation i finance

. Integration with the UPI ecosystem

. Integration with the full service banks

O
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPIL, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinet
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances. introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to mtegrate with the digital rupee
that iz undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the mfrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profilng. Initial adoption has surpassed the most
optimistic expectations. But that is principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation in finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines pligs them
deeper.

Which of the following use cases are expected to prometes the growth of
payment basses?

A. UPI integration with the digital rupee

B. Dislocation of payment banks from digital transactions

C. UPI facilitation of cross-border remittances

D. Keeping a safe distance from the contactless payment infrastructure
E. Consumer lending through Rupay Credit Cards.

Choose the most appropriate answer from the operations given below:

.A. B and C only
. C.D and E only
. A, C and E only
.B. D and E only

S
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Interoperability guidelines for prepaid payment instruments with United
Payments Interface (UPI) bolster the business case for digital wallets. For a
loading fee on transactions through UPI, payments banks, for mstance, can
widen the adoption of wallets among customers and merchants. This increase
use cases for UPI, which largely works on a model of free peer- to- peer-
merchant transactions. The opportunity provided by the scorching growth of
UPI transactions must, however, cross the hurdle of consumer behaviour that is
shaped by zero fees for payments made from their bank accounts. For survival,
payments banks - which can accept deposits but are prohibited from lending -
need to be part of the UPI ecosystem. They also need to carve out a distinet
business segment where they have an advantage over full-service banks.

Those use cases are expected to grow as UPI diversifies into cross- border
remittances. introduces consumer lending through RuPay credit cards and offers
currency exchange to foreign travelers, and bill payments using standing
mstructions gain traction. UPI will also have to mtegrate with the digital rupee
that iz undergoing tests for retail and wholesale transactions. The digital
payments platform will continue to play a key role in the mfrastructure that is
being developed around contactless payments.

This involves building additional UPI context around digital transactions
such as billing and credit- profiling. Initial adoption has surpassed the most
optimistic expectations. But that iz principally on account of the waiver of the
merchant discount rate. In the next leg, UPI will grow by providing solutions for
the conduct of business. It will have to incorporate lending at some point to
become a comprehensive medium of commerce. The infrastructure must
encourage fintechs to push innovation i finance. Payments banks have a strong
correlation with the growth of digital transactions. They are vital piece of the
machinery being built. The interoperability with UPI guidelines pligs them
deeper.

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Payment banks - which ean accept deposits but are prohibited from
lending - need to be part of the UPT ccosystem.

Reason R: Loading fee on transactions through UPI, payment banks can widen
the adoption of wallets among customers and merchants.

In the light of the above statements, choose the correct answer from the options
given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is not false

. A is false but R is true

o
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA mvolves
escrow arrangenients with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement. bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients’ funds in the form of fixed deposit lien or mutual
fund units. This should keep intermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The money used for trading is allowed to be transferred directly to clearing
corporation, through

. Escrow Arrangement

. Unified Payments Interface
. E-banking

. credit cards

S O
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA mvolves
escrow arrangenients with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for mvestors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement. bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients’ funds in the form of fixed deposit lien or mutual
fund units. This should keep intermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The Application Supported by Blocked Amount (ASBA) used in the passage
refers to which market.

. Primary Market

. Secondary Market
. Money Market

. Forex Market

S
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA mvolves
escrow arrangenients with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for mvestors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement. bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients’ funds in the form of fixed deposit lien or mutual
fund units. This should keep intermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

The SEBI has acted on its regulatory remit of protecting investors cash and

. Securities

. Dividend Income

. Grievances of payment
. Public Deposits

S
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The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA mvolves
escrow arrangenients with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement. bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients’ funds in the form of fixed deposit lien or mutual
fund units. This should keep intermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R -

Assertion A : SEBI has offered relief to brokerages that stand to lose float
income on account of upstreaming elient money to clearing corporations.

Reason R: Brokerage have been allowed to upstream clients' fund i the form of
fixed deposit lien or mutual fund units.

In the light of the above statements. choose the correct answer from the options
given below

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is false

. A is false but R is true

S A

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html

54/57



6/13/23, 6:45 PM 11_Live_Comm_B1_E_101-150.html

Fafifea mem =1 ofee SR SO Tefue wit % oo .

fadios aeR! § eiiere ics o1 aiies SMNE (T U9 & 1) oRl sarfad gfaw & gaet
1T & P FgTd gY RSt B [RET F ¥ ad U o 21 gl 99 & wuite aeR
¥ 0% 59 UHN $1 Hedl & & go Fevet & | § feg W € SR ofid =i O € 99
T HREE gdue FFE (o5 9 o) & oNiEdl dibieH WieR S ol Gaas TRl
& R s9@] SevE @) S99 T d98 i S8 & 9Y-91Y SR & TRl &
FR T wiew 21 fidos awR # fafyy ey & e Soem afzd sdem $ T
v faftm Sramfydl & i ToR & A ol 1 T 9 § U oY o & fog 59 94
R T TAEN FI gY S Thpa TR # wimst F 9 owet oieie it 21 aeiet
Ao faamufia g g & feg onig 78 € 9adl §1 59 0 ¥ yRe vanyfa  fafmm
a1g @ FRwe! F R I o yeE & & vare @ 98 g & 21 gierss ddew
2exth (g O 3T5) TIOR3 Vg ga o 91 1R R gamies Frt S siaia 5 @6
et v FXa1 8, o1 qamal & 91 Sy fFa 9 96T 81 98 s SR &

A H, g &y ond a1 WaTE 9 o9 & goUan &1 & &l & a1 RRiEe i Usar
geifadt © TMfEe @t § a9d ge 9 R 9% FEE B A5 O id s 21 36 3
vl & Uss & 9y-91Y 3791 vayfad! @1 e & Favs & w98 51 &

T 7 O B Ued Vad @1 & o garies et @i s e aes 31 qm
YT ARSIl & HR TE AT G B HR I TS 2] Hae TH1 ROTSR a1
T FE 5HE & @e § 4N U$a T5e Hel e & i qo 3 afisd fem
21 5 oY AewyT R[ow &F A1 96T wale SR HamE Siex 9 & A 9 =iy
TAEE & 70 YU B TG B <o £ VTR Y-8 316 $e $ [0 Wile o g
ford T UId § 9% 99y 3= SOl Yo &1 AR Uh e &1 GUR SS9 g
TS B aIdt & w0 § YEig gant & il B 99 £ ) Seiad (¢l of 9@l &

F 1 Y= TG 70§ UF AU (Assertion A) F ¥ # fifEd § O 0 S9& SRU
(Reason R)& #0 #

HfiEY= A: S (0 € &l o) J U Fiets (Eu) & U S & o 9Es 351 9
TaEEE o $ faea v 9w S R wie fad) HE 2 5 R # e

FNOR: §iEi (@A) &1 Hafds ofl HaeR 71 FEE 56 seigdl & &4 § des &
3 &1 uR1 ioga &7 31 Wield JeH &1 71 2l

SR FYF F A H, 919 GE T Beet F 9 999 9uged o &1 994 iy

1. A SRR EF G € iR R. A %1 v awren &
2.AFRREM W E AR R, A & 98 e A8 &
3.ATUE AR T B

4 ANOEAEIRTEE

fAl
jéZ
{\3
{\4

Objective Question
150 908150 2.0 0.00

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_101-150.html 55/57



6/13/23, 6:45 PM

11_Live_Comm_B1_E_101-150.html

The proposed facility similar to the Applications Supported by Blocked Amount
(ASBA) for secondary markets has elements to protect investors while increasing
their potential earnings. The way it works now in the primary market is that
money remains blocked in investor accounts, earning interest till issues of Initial
Public Offerings (IPO) accept subscriptions. Replicating this for the secondary
market is more complicated because of the number of parties, as well as the
kinds of transactions, involved. Investors place a variety of orders over differing
time horizons with or without leverage for multiple securities in the secondary
market. Incorporating all these variables for a mechanism like ABSA mvolves
escrow arrangenients with counter parties in a dynamic environment.

The technical challenge may be considerable but not insurmountable. In this, the
Securities and Exchange Board of India (Sebi) is on the right course in its effort
to provide such a structure for investors. The Unified Payments Interface (UPI)
allows money used for trading to be transferred directly to clearing corporations,
which can then settle with brokers. This flushes out money idling with brokers,
lowering risk of abuse and containing the fallout in case of broker default. This
also offers a pathway for direct settlement. bypassing the pool accounts of
mtermediaries, Sebi has thus, acted on its regulatory remit of protecting
investors' cash as well as their securities.

Sebi has offered relief to brokerages that stand to lose float income on account
of upstreaming client money to clearing corporations. Brokerages have been
allowed to upstream clients’ funds in the form of fixed deposit lien or mutual
fund units. This should keep intermediation fees low while the market regulator
nudges the system to clear excess funds from the broker channel. Higher upfront
brokerage fees are an improvement over those subsidised by float income,
bettering systemic oversight. This could lead to concentration among brokerages
discount players lose their advantage.

Which are reasons that make replication of ASBA for the secondary market
complicated:

A. Kinds of transactions

B. Presence of large number of brokers
C. Applicability of SEBI guideline

D. Number of Parties

E. Differing time horizon

Choose the most appropriate answer from the options given below:

. C, D and E only
. A. B and C only
. A and D only
. B and C only

S O
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